

Sample Problems

1. Express each of the following products as a sum or a difference.

a) $\sin 5x \cos 12x$ c) $\sin 8\alpha \cos 2\alpha$

b) $\cos 24A \cos 8A$ d) $\sin 7\theta \sin 4\theta$

2. Re-write each of the following sums as a product.

a) $\sin 13a - \sin 3a$ b) $\cos 8\beta + \cos 20\beta$

Practice Problems

1. Express each of the following products as a sum or a difference.

a) $\sin 8A \cos 6A$ c) $\cos 8A \cos 6A$ e) $\sin 3\alpha \cos 19\alpha$ g) $\sin 6m \sin 3m$

b) $\sin 6A \cos 8A$ d) $\sin 8A \sin 6A$ f) $\cos 42\theta \cos 6\theta$ h) $\sin \alpha \cos \beta$

2. Re-write each of the following sums as a product.

a) $\sin 10M + \sin 4M$ b) $\sin 10M - \sin 4M$ c) $\cos 5x + \cos 21x$ d) $\cos 21x - \cos 5x$

Sample Problems - Answers

1. a) $\frac{1}{2}(\sin 17x - \sin 7x)$ b) $\frac{1}{2}(\cos 32A + \cos 16A)$ c) $\frac{1}{2}(\sin 10\alpha + \sin 6\alpha)$
d) $\frac{1}{2}(\cos 3\theta - \cos 11\theta)$
2. a) $2 \cos 8a \sin 5a$ b) $2 \cos 14\beta \cos 6\beta$

Practice Problems - Answers

1. a) $\frac{1}{2}(\sin 14A + \sin 2A)$ b) $\frac{1}{2}(\sin 14A - \sin 2A)$ c) $\frac{1}{2}(\cos 14A + \cos 2A)$
d) $\frac{1}{2}(\cos 2A - \cos 14A)$ e) $\frac{1}{2}(\sin 22\alpha - \sin 16\alpha)$ f) $\frac{1}{2}(\cos 36\theta + \cos 48\theta)$
g) $\frac{1}{2}(\cos 3m - \cos 9m)$ h) $\frac{1}{2}(\sin(\alpha + \beta) + \sin(\alpha - \beta))$
2. a) $2 \sin 7M \cos 3M$ b) $2 \sin 3M \cos 7M$ c) $2 \cos 13x \cos 8x$ d) $-2 \sin 13x \sin 8x$

Sample Problems - Solutions

1. Express each of the following products as a sum or a difference.

$$\text{a) } \sin 5x \cos 12x = \frac{1}{2} (\sin 17x - \sin 7x)$$

We will write the sum and difference formula for sine using $5x$ and $12x$.

$$\begin{aligned} \sin 17x &= \sin(12x + 5x) = \sin 12x \cos 5x + \cos 12x \sin 5x \\ \sin 7x &= \sin(12x - 5x) = \sin 12x \cos 5x - \cos 12x \sin 5x \end{aligned}$$

We will subtract the second equation from the first one - or rather, add the opposite

$$\begin{array}{r} \sin 17x = \sin 12x \cos 5x + \cos 12x \sin 5x \\ \text{Add } -\sin 7x = -\sin 12x \cos 5x + \cos 12x \sin 5x \end{array}$$

$$\begin{aligned} \sin 17x - \sin 7x &= 2 \cos 12x \sin 5x \\ \frac{1}{2} (\sin 17x - \sin 7x) &= \cos 12x \sin 5x \end{aligned}$$

$$\text{and so the answer is } \cos 12x \sin 5x = \boxed{\frac{1}{2} (\sin 17x - \sin 7x)}$$

$$\text{b) } \cos 24A \cos 8A = \frac{1}{2} (\cos 32A + \cos 16A)$$

We will write the sum and difference formula for cosine using $8A$ and $24A$.

$$\begin{aligned} \cos 32A &= \cos(24A + 8A) = \cos 24A \cos 8A - \sin 24A \sin 8A \\ \cos 16A &= \cos(24A - 8A) = \cos 24A \cos 8A + \sin 24A \sin 8A \end{aligned}$$

We will add the two equations

$$\begin{array}{r} \cos 32A = \cos 24A \cos 8A - \sin 24A \sin 8A \\ \text{Add } \cos 16A = \cos 24A \cos 8A + \sin 24A \sin 8A \end{array}$$

$$\begin{aligned} \cos 32A + \cos 16A &= 2 \cos 24A \cos 8A \\ \frac{1}{2} (\cos 32A + \cos 16A) &= \cos 24A \cos 8A \end{aligned}$$

$$\text{and so the answer is } \cos 24A \cos 8A = \boxed{\frac{1}{2} (\cos 32A + \cos 16A)}$$

$$c) \sin 8\alpha \cos 2\alpha = \frac{1}{2}(\sin 10\alpha + \sin 6\alpha)$$

We will write the sum and difference formula for sine using $8M$ and $2M$.

$$\begin{aligned}\sin 10\alpha &= \sin(8\alpha + 2\alpha) = \sin 8\alpha \cos 2\alpha + \cos 8\alpha \sin 2\alpha \\ \sin 6\alpha &= \sin(8\alpha - 2\alpha) = \sin 8\alpha \cos 2\alpha - \cos 8\alpha \sin 2\alpha\end{aligned}$$

We will add the two equations.

$$\begin{array}{r} \sin 10\alpha = \sin 8\alpha \cos 2\alpha + \cos 8\alpha \sin 2\alpha \\ \text{Add} \quad \sin 6\alpha = \sin 8\alpha \cos 2\alpha - \cos 8\alpha \sin 2\alpha \end{array}$$

$$\begin{aligned}\sin 10\alpha + \sin 6\alpha &= 2 \sin 8\alpha \cos 2\alpha \\ \frac{1}{2}(\sin 10\alpha + \sin 6\alpha) &= \sin 8\alpha \cos 2\alpha\end{aligned}$$

and so the answer is $\cos 24A \cos 8A = \boxed{\frac{1}{2}(\cos 32A + \cos 16A)}$

$$d) \sin 7\theta \sin 4\theta = \frac{1}{2}(\cos 3\theta - \cos 11\theta)$$

We will write the sum and difference formula for cosine using $8A$ and $24A$.

$$\begin{aligned}\cos 11\theta &= \cos(7\theta + 4\theta) = \cos 7\theta \cos 4\theta - \sin 7\theta \sin 4\theta \\ \cos 3\theta &= \cos(7\theta - 4\theta) = \cos 7\theta \cos 4\theta + \sin 7\theta \sin 4\theta\end{aligned}$$

We will subtract the first equation from the second - or rather, add the opposite:

$$\begin{array}{r} -\cos 11\theta = -\cos 7\theta \cos 4\theta + \sin 7\theta \sin 4\theta \\ \text{Add} \quad \cos 3\theta = \cos 7\theta \cos 4\theta + \sin 7\theta \sin 4\theta \end{array}$$

$$\begin{aligned}\cos 3\theta - \cos 11\theta &= 2 \sin 7\theta \sin 4\theta \\ \frac{1}{2}(\cos 3\theta - \cos 11\theta) &= \sin 7\theta \sin 4\theta\end{aligned}$$

and so the answer is $\sin 7\theta \sin 4\theta = \boxed{\frac{1}{2}(\cos 3\theta - \cos 11\theta)}$

2. Re-write each of the following sums as a product.

a) $\sin 13a - \sin 3a$

Solution: We will need to come up with two angles that add up to $13a$ and their difference is $3a$. This is quite easy, especially if we just remember that one of those angles must be the average of $13a$ and $3a$. This average is $\frac{13a + 3a}{2} = 8a$. Now the other angle is $13a - 8a = 5a$. Indeed, the sum of $5a$ and $8a$ is $13a$ and their difference is $3a$. There are no more decisions to make. Looking at the problem posed, we know that we will express the sum and difference formulas for sine; and that we will subtract $\sin 3a$ from $\sin 13a$.

$$\begin{aligned}\sin 13a &= \sin(8a + 5a) = \sin 8a \cos 5a + \cos 8a \sin 5a \\ \sin 3a &= \sin(8a - 5a) = \sin 8a \cos 5a - \cos 8a \sin 5a\end{aligned}$$

We will subtract $\sin 3a$ from $\sin 13a$ - or rather, add the opposite

$$\begin{array}{r} \sin 13a = \sin 8a \cos 5a + \cos 8a \sin 5a \\ \text{Add } -\sin 3a = -\sin 8a \cos 5a + \cos 8a \sin 5a \end{array}$$

$$\sin 13a - \sin 3a = 2 \cos 8a \sin 5a$$

and so the answer is $\sin 13a - \sin 3a = \boxed{2 \cos 8a \sin 5a}$

b) $\cos 8\beta + \cos 20\beta$

Solution: We will need to come up with two angles that add up to 20β and their difference is 8β . This is quite easy, especially if we just remember that one of those angles must be the average these two, $\frac{8\beta + 20\beta}{2} = 14\beta$. Now the other angle is $20\beta - 14\beta = 6\beta$. Looking at the problem given, we know that we will express the sum and difference formulas for cosine; and that we will add $\cos 8\beta$ and $\cos 20\beta$.

$$\begin{aligned}\cos 20\beta &= \cos(14\beta + 6\beta) = \cos 14\beta \cos 6\beta - \sin 14\beta \sin 6\beta \\ \cos 8\beta &= \cos(14\beta - 6\beta) = \cos 14\beta \cos 6\beta + \sin 14\beta \sin 6\beta\end{aligned}$$

We will add the two equations

$$\begin{array}{r} \cos 20\beta = \cos 14\beta \cos 6\beta - \sin 14\beta \sin 6\beta \\ \text{Add } \cos 8\beta = \cos 14\beta \cos 6\beta + \sin 14\beta \sin 6\beta \end{array}$$

$$\cos 8\beta + \cos 20\beta = 2 \cos 14\beta \cos 6\beta$$

and so the answer is $\cos 8\beta + \cos 20\beta = \boxed{2 \cos 14\beta \cos 6\beta}$

For more documents like this, visit our page at <http://www.teaching.martahidegkuti.com> and click on Lecture Notes. E-mail questions or comments to mhidegkuti@ccc.edu.